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10.

1.

12.

13.

14.

(English Version)
Section — A (Languages)

gfte o fadw 7= ® -

A) B) 9o C) gfte D) ¥er
‘SHTT A TN arelt 3TAT SR ol ek 9188 SIielly ?

A) WA B) wsame C) M D) T
‘B @ A’ - U e qqe] 7

A) wmEEq B) wHamiiS C) 9mret D) wifdg
o % ¥ 9gEa A w1 99 Fi -

A) S RS TRl 7, T8 3N Fedr § | B) ¥ ugdr ¥ 3R 98 W B

C) = W fo1 98 yg & qehan @ D) uRsrit =afer & Awheren U Sl B
‘3 T MEET HETR T 3 7 -

A) FASIR AT B) e St C) @t st D) s st
‘U W E@Ed I w I3Y B

A) ST ¥ T B) =R ST C) Sa& = o= D) wifera g
‘Tor & R A Tl w1 A’ & oI R -

A) T & fo O 7 B B) ot &fe & RR R gif-aa ot oI
C) foema e =t &t o e D) 3@rg =fad &l st 9e fiemr

‘o’ foRg sTTom @ IeE B 7

A) ==t B) Sar C) 9 D) 3t
o o=at &t ScafT &1 I 8l Terdl, S8 hel Sffl ® -

A) W B) dg¥a C) 37 D) &R
‘98 TR Y AR T’ - T AT A A HIT-A FRE 87

A) Fat B) &# C) & D) JUEE
frfofas & 3 @ o 3 W wdT SRl W yge BT 27

A) TER B) st C) ehel D) =
FefeRaa o= - fagioor St & - 9f 78 2 -

A) fow - faten B) far-dge C) 3nfe - 3nfaw D) uid - Uifieh
‘g’ A AT Eal B 7

A) gl B) di=ed C) @ad ‘A’ D) ‘A’ @ ‘B’3aFt
‘o +I’ o Gfer B -

A) e B) famrst C) farst D) &g 7&
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15, foums = 9 I @ AR sqeamaren s fR e B 7

A) gat B) 99 ™ C) fasror D) forar - femwor
16, ‘A P R F WEW W W U q9 A QS B wER’ F4m 27

A) oURU 3gew B) faew fawnw C) I 98h D) &g T8t
17. VW S e DI TS B -

A) T B) #r=T C) @t D) &g =&l
18. AR S R-F B B 7

A) T & YER B) o & gaeR  C) a9 &1 Wl e D) d T HeweR
19. T A e ¥ WA-A A= @@ B Y

A) = B) g=amt C) a=arat D) @=arat
20. fo=foaa § & =9 @ @ g2 27

A) ¥ T H FERT FA F B) # M @I W HR T F

C) ¥ TN T A FX T 3§ | D) ¥ T T AR IR T 3§ |

Directions Qs.21-24: Mark the correct opposites, out of the four choices given, of the following words :-
21. Adroit

A) Clumsy B) Clever C) Awakened D) Inaudible
22.  Adventitious

A) Defiant B) Planned C) Snobbish D) Ruthless
23. Convalesce

A) Visible B) Brittle C) Deteriorate D) Scattered
24, Exasperation

A) Agony B) Capability C) Bravery D) Pleasure

Directions Qs.25-28: Mark, out of the four given choices, the correct meaning of the italicized idioms/
phrases:-
25.  Beyond the black stump
A) beyond the limits of settled, and therefore civilized, life B) beyond the limits of tolerance
C) beyond one’s ambitions D) beyond one’s capabilities
26.  Chickens come home to roost
A) a state of indecisiveness
B) one’s past mistakes or wrongdoings will eventually be the cause of present troubles
C) a state of extreme tiredness
D) a state of certainty.

ZBG-20995-A >3< Contd.



27.

28.

Dip one’s pen in gall

A) seek support from others by one’s writings

B) take decisive action to put an end to an undesirable situation

C) write spitefully

D) stay calm despite provocations

A Judas kiss :

A) affirmation of friendship despite differences

B) neutralized propaganda

C) a day dream

D) act of betrayal especially one disguised as a gesture of friendship

Directions Qs. 29-32:Choose the correct preposition, out of four options , to be filled in the blanks of the

following sentences :-

29.

30.

31.

32.

Saina Nehwal’s performance is not consistent __ her talent.

A) with B) for C) at

India’s economy is, at present, infested  problems

A) to B) with C)in

He should not be covetous  others’ riches.

A) on B) off C) of
Satish’s errors may be ascribed _ his carelessness.

A) at B) with C) for

Directions Qs. 33-36: Choose the correct synonyms of the following words:-

33.

34.

35.

36.

Contagion

A) Infection B) Container C) Capacity
Conspectus

A) Suspense B) Summary C) Clarity
Grotto

A) Grotesque B) Opponent C) Cave
Insouciant

A) Irreverent B) Irrelevant C) Impatient

D) into
D) about
D) for

D) to

D) Inability
D) Callousness
D) Criticism

D) Indifferent

Directions Qs. 37-40: Choose the correct form of the following words, out of four given options, as the
given part of speech in the sentences:-

37. Up as adverb:-

A) Prices are up. B) Let us go up the hill

C) The next up train will leave soon. D) We should not be afraid of ups and downs in life.
38.  Well as adverb:-

A) Let well alone. B) Well begun is half done.

C) I hope you are now well. D) Well, who would have thought it?
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39. Still as noun:-
A) With his name the mothers still their babies. B) Still waters run deep.
C) Sita’s sobs could be heard in the still of night. D) He is still in business.
40. All as noun

A) He lost his all in speculation. B) All men are mortal.
C) He was all alone when I saw him. D) All spoke in her favour.
Section — B
41. Acid rain is caused due to pollution of atmosphere by
A) Carbon Dioxide B) Methane Gas
C) Ozone & Carbon Dioxide D) Nitrous Oxide & Sulphur Dioxide
42. Longitude measures the angular distance, expressed in degrees of a point on the Earth’s surface:
A) east or west of prime meridian B) north or south of the equator
C) only east of prime meridian D) only west of the prime meridian
43. The filament of an electric bulb is made of
A) iron B) nichrome C) tungsten D) graphite
44.  Which of the following vitamins is considered to be a hormone?
A) A B)B O)C D)D
45. The technique used to transmit audio signals in television broadcasts is
A) Amplitude Modulation B) Frequency Modulation
C) Pulse Code Modulation D) Time Division Multiplexing

46. Who proposed the Preamble before the Drafting Committee of the Constitution?
A) Jawahar Lal Nehru B) B.R. Ambedkar ~C) B.N. Rau D) Mahatma Gandhi
47. National song has been taken from
A) Bharat Vidhata article written by B.C. Chatterjee B) Totva-Bodhini Patrika edited by Tagore

C) Novel Durgesh Nandini by B.C. Chatterjee D) Novel Anand Math by B.C. Chatterjee
48. Which data input method do banks mainly use for processing bank cheques?
A) OMR B) Bar Code Reader C) MICR D) Light Pen
49.  Which of the following has been appointed as brand ambassador of the Gujarat State Election
Commission?
A) Amitabh Bachan = B) Cheteshwar Pujara C) Ravinder Jadeja D) Irfan Khan

50. Which of the following movies has won the Golden Peacock Award (2013) for the Best film
category in the 44™ International Film Festival of India (IFFI) held at Goa ?
A) 12 Yearsaslave  B) Dallas Buyers Club C) Gravity D) Beatriz’s War

51.  What is the rank of India in Global Corruption Perception Index 2013, according to Transparency
International ?
A) 94" B) 77" C) 104™ D) 116"

52.  Which one is not a constituent of Human Development Index ?
A) Life expectancy B) Infant mortality rate
C) Real per capita income D) Adult literacy rate
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53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

Which of the following is a port town of Indus Valley Civilization?

A) Harappa B) Alamgirpur C) Banawali D) Lothal
The first electronic computer in the world was
A) UNIVAC B) EDVAC C) ENIAC D) none of the above

Which of the following railway platforms located in India has recently been declared as the Largest
Railway Platform in the world?

A) Kharagpur B) Sonpur C) Bombay V.T. D) Gorakhpur

Who of the following women became the first woman chairperson of State Bank of India?

A) Naina Lal Kidwai B) Chanda Kochar C) Shikha Sharma D) Arundhati Bhattacharya
Tax Administration Reform Commission has been set up under the Chairmanship of :

A) Parthsarthi Shome B) Kaushik Basu C) Y.V. Reddy D) Vijay Kelkar
What is true about Bitcoin ?

A) It is currency with high intrinsic value

B) It is currency with no intrinsic value

C) Bank of Thailand accepted it as legal

D) Since its inception the price of Bitcoin has always been lower than Dollar

Bermuda Triangle extend upto which of the following places?

1. Southern Florida 2. Puerto Rico 3. Hawaii Islands

Which of the statement(s) given above is/are correct ?

A) 1,2 and 3 B) 1 and 2 only C) 2 and 3 only D) 1 and 3 only
The famous book, “Chronicle of a Corpse Bearer” is written by:

A) Vikram Seth B) Kuldeep Nayar C) Arundhati Roy D) Cyrus Mistry.
Which of the following countries has won the Men’s Hockey Asia Cup 2013?

A) South Korea B) Pakistan C) Malaysia D) India

Which country has qualified for the first time to play in the 11th ICC Cricket World Cup?

A) Nepal B) Afghanistan C) Netherland D) UAE

Which of the following languages has recently been approved as the sixth classical language of
India by the Union Cabinet?

A) Malayalam B) Kannada C) Odia D) Telugu

Which of the following writers was awarded the Sahitya Akademi Award 2013 in English?

A) Ruskin Bond B) Temsula Ao C) Vikram Seth D) Ramchandra Guha
Name the India’s nuclear-capable strategic missile, with a strike range of about 4000 km tested
successfully

A) Akash B) Prithvi-II C) Agni-IV D) Trishul

World Intellectual Property Day is observed on :

A) 24th December B) 26th April C) 29th June D) 26th June

23 December 2013 was observed across India as :

A) Working Women’s Day B) Rashtriya Sadbhavana Diwas

C) Rashtriya Vigyan Diwas D) Kisan Diwas
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68.

69.

70.

71.

Which of the following cities has bagged the Best Heritage City award for 2012-13 ?

A) Jaipur B) Tirupathy C) Udaipur D) Hyderabad
Which of the following personalities was awarded the Gandhi Peace Prize for 2013?
A) M.S. Swaminathan B) Angela Merkel C) Chandi Prasad Bhatt D) Medha Patekar

Who among the following was crowned Miss Earth 2013?

A) Bea Rose Santiago B) Maria Gabriela Isler C) Megan Young D) Alyz Henrich
‘Duma’ is related to ‘Russia’ in the same way as ‘Knesset’ is related to :

A) Malaysia B) Afghanistan C) France D) Germany

Direction: (Q.Nos. 72-73) Choose the one of the four given alternatives that shows the same
relationship as is found between the two words/ numbers to the left of the sign::

72.

73.

74.

75.

76.

77.

78.

79.

80.

Contamination : Food :: Infection: ?

A) Germs B) Disease C) Body D) Medicine
42:56::110:7?

A) 132 B) 136 C) 140 D) 120

Select the pair of words that has the same relationship as in the given pair:

Hymn : Praise

A) Dirge : Grief B) Prayer : Congregation C) Liturgy : Rite D) Lullaby :Child

Three of the following four are alike in a certain way and so form a group. Which is the one that
does not belong to the group?

A) Volume B) Size C) Large D) Shape
Which of the following does not fit in the letter number series ?

A) DG2 B) EK5 C) JR6 D) PYS

If BRIGHTEN is written as HISCMDSG. How is COMPLETE written in that code ?

A) DSDKQNPD B) QNPDDSDK C) QNPDFUFM D) OLNBFUFM

In a certain language, ‘min fin bin gin’ means ‘trains are always late’; ‘gin din cin hin’ means
‘drivers were always punished’; ‘bin cin vin rin’ means ‘drivers stopped all trains’ and ‘din kin fin
vin’ means ‘all passengers were late’. The ‘Drivers were late’ would be written as :

A) min cin din B) cin din fin C) fin din gin D) gin hin min
‘YPCUIAT’ are jumbled letters of a meaningful word. Rearrange these letters and select from the
given alternatives, a word which is opposite in meaning to the rearranged word:

A) Surplus B) Scarcity C) Presence D) Richness

If + stands for greater than; x stands for addition; + stands for division; — stands for equal to; >
stands for multiplication; = stands for less than; < stands for minus, then which of the following is
correct ?

A)3+2<4+6>3x2 B)3x2<4+6+3<2
C)3>2<4-6x3x2 D)3x2x4=6+3<2
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Direction (Q. Nos. 81-83) : Ten students A, B, C, D, E, F, G, H, I and J are sitting in a row facing
west. B and F are not sitting on either of the edges; G is sitting to the left of D and H is sitting to
the right of J. There are four persons between E and A. 1is to the north of B and F is to the South
of D. J is between A and D and G is between E and F. There are two persons between H and C.

1.

82.

83.

84.

85.

86.

87.

88.

Who among the following is definitely sitting at one of the ends?

A)C B) H C)E D) None of above
Who are the immediate neighbours of I?

A)Band C B) Band H C) Aand H D) B&C orB&H
If G and A interchange their positions then who become immediate neighbours of E ?

A)G &F B) F only C) A only D) F&A

In a class of boys and girls, Ajay’s rank is 12th and Anu’s rank is 8th, Ajay’s rank among boys is
6th and Anu’s rank among girls is 3rd. In the class, Anu’s rank is 52nd from the other end. From
the other end, Ajay’s rank among the boys is 26th. Which of the following is Anu’s rank among
girls from other end?

A) 23rd B) 28th C) 26th D) None of the above
Pointing to a lady in the photograph, ‘Rekha said, ‘Her son’s father is the son-in-law of my mother’.
How is Rekha related to that lady?

A) Aunt B) Sister C) Mother D) Cousin

If ‘A x B’ means that A is sister of B, ‘A+ B’ means that A is daughter of B, ‘A—B’ means that A is
son of B. Then how is P related to S in the relationship ‘P—Q x R+ S’?

A) Brother B) Son C) Grandson D) Daughter’s son

Ram drives 10 Kms towards South from his house and turns left and drives another 10 Kms. He
again turns left and drives 40 Kms. straight, then he turns right and drives for another 5 Kms to
reach the bank where he works. How far and in which direction is Ram’s bank from his house?

A) 33 Kms. North East ~ B) 45 Kms. North  C) 65 Kms. East D) 39 Kms. North West

At the end of a business conference, 10 people present shake hands with each other once. How
many hand shakes will be there all together ?

A) 20 B) 45 C) 55 D) 90

Direction (Q. Nos. 89-90): Read the pattern of letters/ numbers/terms and find the missing term
from the given alternatives:

89.

90.

91.

IAZ, KEB, ? , OOF, QUH

A) MDD B) MII C) MIO D) MID
266, 339, 528, ?
A) 630 B) 730 C) 830 D) 930

In the following series some letters are missing which are given in that order as one of the
alternatives below it. Choose the correct alternatives:

aac_a cbab b accab ba cb

A) bcacba B) acbaba C) cbcacb D) cabcab
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92.

A person was asked to state his age in years. His reply was, ‘take my age three years hence,
multiply it by 3 and then subtract three times my age three years ago and you will know how old I
am’. What was the age of the person?

A) 18 years B) 20 years C) 24 years D) 32 years

Direction (Q.Nos. 93-94): 120 candidates appeared for examination in three subjects, namely,
English (E), Maths (M) and Science (S). The number of candidates who failed in E, M and S are
shown in the diagram given below:

93.

94.

95.

96.

97.

98.

EM
&

The number of candidates who failed in at least one subject is :

A) 25 B) 30 C) 60 D) None of the above
The percentage of candidates who failed in at most two subjects is :

A) 20.83 B) 25 C) 45.83 D) 95.83

How many triangles are there in the following figure?

A) 17 B) 16 C) 19 D) 21

A painter has painted a cubical box with six different colours for different faces of the cube.

Red face is between yellow and brown faces. Green face is adjacent to the silver face. Pink face is
adjacent to the green face. Brown face is at the bottom. Silver and pink faces are opposite to each
other. The face opposite to red will be:

A) Yellow B) Green C) Pink D) Silver
A clock seen through a mirror shows quarter past three. What is the correct time?
A)9.45 B)9.15 C) 8.45 D) 3.15

A train X starts from A at 4 PM and reaches B at 5 PM. While another train Y starts from B at
4 PM and reaches A at 5.30 PM. Two trains will cross each other at:
A) 4.36 PM B) 4.42 PM C)4.48 PM D) 4.50 PM
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Direction (Q. No. 99-100) : Five members A,B,C,D and E of a family eat Grapes, Apple,
Watermelon, Pomegranate and Pineapple one by one after their lunch from Tuesday to Saturday.
Each of them eats only one fruit a day. No two members eat the same fruit on a day. Neither B
nor E eats watermelon or grapes on Wednesday. A eats pomegranate on Thursday. D eats apple on
Tuesday. E does not eat pineapple on Tuesday. B eats pomegranate on Friday. C eats grapes on

Saturday. A eats watermelon on Tuesday. D eats pineapple on Wednesday.
99.  Which fruit does E eat on Friday?

A) Grapes B) Watermelon C) Apple D) Pomegranate
100. On which day does D eat watermelon?

A) Wednesday B) Friday C) Saturday D) Thursday
101. If students do not understand what is taught in the classroom, the teacher should:-

A) Explain it in a different way B) Feel terribly bored

C) Feel that he is wasting time D) Pity the students

102. Which of the following will not hamper effective communication in the classroom?
A) A lengthy statement
B) A precise statement
C) An ambiguous statement
D) A statement which allows the listener to draw her/his own conclusions.
103. With specific reference to classroom environment , all except one of the major components of
listening is:-

A) Hearing B) Being attentive

C) Answering D) Understanding and remembering.
104. In order to modify the undesirable behaviour of a student, the most effective method is:-

A) To punish the student

B) To bring it to the notice of parents
C) To make her/him conscious of the consequences of her/his actions
D) To find out the reasons for her/his undesirable behavior and provide remedies.
105. If students are not able to follow the topic which is being taught in the classroom, the teacher in the
classroom should:-

A) Illustrate the topic with suitable examples. B)Give them prompt reply.
C) Change the contents of the topic. D) Punish them.
106. The most important indicator of quality of education in an educational institute is :-
A) Infrastructural facilities of a school. B) Student achievement level.
C) Textbook and teaching-learning material. D) Classroom system
107. Kothari Commission Report on Education was entitled as :-
A) Learning to be B) Diversification of Education
C) Education and National Development D)Education for all.
108. Integral Education Concept is propounded by:-
A) M.K.Gandhi B) S.Radhakrishnan C) Swami Dayananda D) Sri Aurobindo
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109.

110.

I11.

112.

113.

114.

115.

116.

117.

118

119.

120.

41.

Navodaya Schools have been established to:-

A) Provide good education in rural areas. B) Increase number of schools in rural areas.
C) Complete ‘Sarva Shiksha Abhiyan’ D) Check wastage of education in rural areas.
Kindergarten system of education was constituted by

A) T.P.Nunn. B) Froebel C) Spencer D) Montessori

The main purpose of the new education policy is:-

A) To provide equal opportunity of education to all. B) To link education with employment

C) To improve the whole education system D) To spiritualize the education system
Family is the main agency of :-
A) Formal education  B) Technical education C) Secular education D) Informal education

The aim of education should primarily be:-

A) To prepare the students to face the challenges of practical life
B) To develop vocational skills of the students

C) To prepare the students for examinations

D) To inculcate in them a spirit of cut-throat competition.

The quality of school level education primarily depends on :-

A) International collaboration B) The quality of teachers’ education
C) Financial provisions D) Infrastructural facilities.
One of the important theories of moral developments was proposed by:-
A) Louis Fischer B) Erik Fromm C)Laurence Kohlberg D) Bertolt Brecht
The name of Yashpal Committee Report (1993) is:-
A) L.C.T. in Teacher Education B) Learning through Moral Values
C) Learning through Broadcasting D) Learning without Burden
The term ‘kindergarten’ means:
A) Children’s playground B) Children’s school
C) Children’s home D) Children’s theatre
‘Spare the rod and spoil the child’- this assumption is related to the type of discipline which has been
advocated :-
A) By naturalist philosophy B) In Victorian Era
C) By pragmatist philosophy D) In Democratic Era
The heuristic approach is based on :-
A) Rote memorization B) Home work C) Spirit of Inquiry D) Pleasure-seeking
Symposium is a type of :-

A) Discovery method B)Lecture method  C)Demonstration method D)Discussion method

Section — B
TAUSA T YU T FHRO A gfte fFE g A ot 2
A) FET SRR B) #a |
C) AT 3R HIeT Srg3iFaTES D) EgH S 3R TohY TEITFarEs
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42.

43.

44.

45.

46.

47.

48.

49.

50.

51

52.

53.

54.

55.

56.

57.

R T 0 A A 2 R ged A qas W fag 9 (R § e fwar s 2

A) e -T@A & TG T qiFe B) SHER@T & IR TAaT Sfer
C) 3nfe - & sae & D) 31fe - 3@ & dae ufdeH
fasrett & woa o1 fhe=e foRe o1 &1 B 8

A) ET B) ArEM C) TR D) AwrEe
fora faerfem =Y B@i= AT ST #:

A) A B)B C) C D) D

ot yarel  sufear Rl & waor & fore ggea Jeie @

A) I fFEEm B) smafa fa=on C) v & Faaw D) o fasem sgfagemen
wfae™ & ST | & S gEEAn foRe A gedifad @ o

A) VAR A A8€ B) & IR gdX C) &N vA. 9 D) #eTe el

TG T et o forar e @

A) &t A oot gr1 A wRa fqomer femar B) R 3R quifed et diear- Sifee

C) | A el o Iu=E [ Al D) & 4. Jesit o I e qS

o Heea: S A A TR A fRe wer e faft @ vE e E

A) OMR B) 9R &8 AK C) MICR D) ®rge ¥

ToRE Uod e 3T o i weew fre @ fgea foean o

A) JARE ST B) TR IORI C) ufder S D) & @t

Tar # gY ARG & 44-9 FRACE hew Iw@d (IFFI) | s fhewt &l hife o TMesT Giehish q0hR
(2013) fora frew Y feam v 2:

A) 12 Years a slave B) Dallas Buyers Club

C) Gravity D) Beatriz’s War

IRATA STASE @ (Transparency  International) & S8R, fava Wee@R Ieaerr gaeniar 2013 A
SRA T 3 M 2

A) 94-=1 B) 77-=1 C) 104-=1 D) ne-=t

AHa fmE geenia 1 TeE HIT-a T

A) Sia g B) fIrg 4 =

C) arafaess gfa At s D) dtg IeRar &

forey o1& T @ SEaE WEY -4 B

A) BT B) SERRIRGE C) saret D) aure

faza % wgen ToiaIHE FE o

A) UNIVAC B) EDVAC C) ENIAC D) T A ¥ FIE F 7 B
VR A feoa forg W <iew™ o B € A faga F 9w A 981 od wew™ =it fmar @ @
A) TR B) MR C) &% & & D) TRER

e S I TeA1 HT Tgell Aigell Jedel o AW 2

A) T A fheag  B) wwaT @iwe C) farar wet D) &l Weermd

TR YA GUR AT R ot reeran | wenfue e T @
A) Trardt |m B) =if¥ren s C) aE. &, == D) faca dea
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58. foeatew & ar ¥ wé = 2
A) I8 I JARE Ao o q5T B B) 5 fF& +7t smaRe o ot HeT =8 B
C) 9IEeis & S ¥ T Y A5 D 9 A ThR wa
D) 8% IR ¥ A facantaT ot W sH & R | FH @ 2
59. wWEl Bpe foRe W 9@ W 8
1. 3l weARer 2. et Je 3. B B

I9ged FUE W A T A/ G B /R
A) 1,2 3R 3 B) @ad 1 3iR 2 C) &ad 2 3R 3 D) ®as 1 3R 3
60. 9@ T ‘Chronicle of a Corpse Bearer’ &1 o@a &hiv 2
INREER ) B) ®edd TR C) 3r&=afa T D) wE fedt
61  fora 3w = qeol o1 w1 Ufimm &9 2013 S R
A) zferor ifRar B) wifered= C) I D) WRd
62. fRa 3w 7 1-9 ICC Tfehe foma 9 & veel IR Qe 1 e ot &t &
A) U B) ST C) Hetels D) UAE
63.  TohE W1 A T AEAHUSH BT B | R 9 S Felieanl W TR R 2
A) FeraTe B) &g C) 3nfear D) 9T
64. TorE d@® H FUSH A 2013 F Aied FHEHA TR I fRam =1 o
A) Fewe 9= B) Twga 33 C) faww ¥ D) e &
65. WRA & WA - A WAIE FEA T AW TAS 0 & 4000km TER TRE Tl AhcAdIaen TR0
e = 2
A) ST B) et - 11 C) IV D) faet
66. Tava sifgew wwafa feaw e w@ =T I 2
A) 24 feE=R B) 26 3de C) 29 5 D) 26 S
67. 23 fa@R 2013 T AT WRA | fF@ & FT H AFRT WA M
A) FEFR Al feaq B) UG wedtE feaw
C) T fam feea D) fwar faaq
68.  form wer ¥ 2012-13 & fog At favas AR T 2
A) TR B) foreafy C) SR D) RemEre
69. form =aferm Y 2013 & forg wied wnfa e foam o
A) T, TE, SIS B) Toie  Wiahel
C) TS JEE WeT D) Wem R

70. fora = fm 31t 2013 &1 OIS gBART TR o
A) 3T A AIEHIWN  B) AiRaT Fsqe TR C) W a1 D) vfera 2o
71. ‘Duma’ ‘&0’ ¥ I8 e Fafod 8 I ‘Knesset” & Faiferq &
A) WAfErET B) & C) v D) St
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e . (= 72-73) : g T OR fakeai # @ U fawed @ gA ST I G W T E O
fre A € AR A e /A3 A B:

72.  GQUU : ER :: GHAU 7

A) AT B) T C) TR D) &
73. 42 : 56 ::10 : 7

A) 132 B) 136 C) 140 D) 120
74, 39 T=-S0T A I o o 9f gy R o v R ¥ R

W:'{ﬂﬁ

A) WHMS ; WME B) T @ C) Ul Ugfd : 3 D) @I ;s
75. e OR § ¥ A9 5 90 ¥ @ ¥ 3R T8 T wE oA € | 98 U - B W 59

e ¥ gefem T8 27
A) aegH B) 3R C) ==t D) 9
76. IR WA IFTHEA A -1 fhe T8 B
A) DG2 B) EK5 C) JR6 D) PY8
77.  afe¢ BRIGHTEN = HJSCMDSG forar iram 2, &t 3@ @is ¥ COMPLETE i &9 foran =i 2
A) DSDKQNPD  B) QNPDDSDK C) QNPDFUFM D) OLNBFUFM

78. v fa@w or | ‘min fin bin gin’ @ G # “trains are always late’; ‘gin din cin hin’ T #ee &
‘drivers were always punished’; ‘bin cin vin rin’ &1 #ae@ & ‘drivers stopped all trains’ 3R “din

kin fin vin’ &7 #aee & “all passengers were late’. ‘Drivers were late’ T ¥ forar Smeam:
A) min cin din B) cin din fin C) fin din gin D) gin hin min

79.  ‘YPCUIAT U& ¥q0} 9Ied & HIoWel 31eR 81 37 3R ol T hviag o 3k g g faeredl & @
I & Wl G ol TF TG T ¥ I A fawarea B
A) Surplus  B) Scarcity C) Presence D) Richness

80. Tl + 1 AdoE ‘¥ TAET’; X I AAAS S + T AAAS ‘HRT; — i Adold SN’ ®; > ol Feolold
U, = A 8 A A < 1 AdoW 7 - e @ e X @ wie-an vl @
A)3+2<4 +6>3x2 B) 3x2<4 +6+3<2
C)3>2<4-6x3x2 D) 3x2x4=6+3<2

fode: (v . 81-83): A, B, C, D, E, F, G, H, I 3R J <a famnefi uftem =t fGan & #z =< v
T A IS T BIAR F vl i R W aE 93 &, G, D &t a1 IR AR H, ] o T3 AR a1 21 E
MADRTA IR AFTI IS EI [ BB IWHI AR IR F, DD fA0T sht aew aa12 1 J, A
IR D AT 2 AR G, E 3R F & /A= 21 H 3R C & qHa= @ aafea 93 2

gl  fawifera ¥ @ =i fAfdea &9 o v R W St 2

A) C B) H C) E D) T ¥ =g ot 78l &
82. I focma aa s a3 2

A) B3R C B) B 3R H C) A 3R H D) B 3R C 3@ B 3k H
83. I G 3R A 30 I U TW & 99 o, A E & foeeqmer g & 27

A) G 3R F B) @ad F C) @ad A D) F 3R A
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84.

85.

86.

87.

88.

ATH IR TERA FT Fem A 0T TN IF 12-T 7 IR ] HIF 8- B TR A IO H IH
6-a1 8 3R wEfRal § 3] w1 I AU 21 wew A, T W A J0 F IF 52-9 B AqTH A, T
R ¥ a5 o1 ¥ 26 -1 31 R RR A wefra § sy I foRem @

A) 23-4d B) 28-at C) 26-at D) 3T H ¥ wE 0 78 7
TEIR A UF AR S 3R TA FA §Y, @ A FET; TE H A H U AQ A6 F w2 O@r
w1 39 Afgen ¥ = R &

A) 3T B) 989 C) ¥ran D) e

It ‘A x B aAdd 8 fF A, B 987 8, ‘A ~ B’ &l #ideis & fF A,B &t 381 8, ‘A-B’ &l
A 2 fF A B® ¥, @ P-QxR+S' & Rad & P &1 S ¥ = Raran 2

A) WE B) et C) /2 D) & &l Set

T U WA W A 10 kms =R0T ot TRE W 7, S1¢ A 7 3 10 kms IR I B 98 qME IR
e B IR WM 40 kms W 7, R < 3R Az B 3R dF I ugem & O 5 kms Wm 8 Rt
qE W FAT Bl T H dF Igh W ¥ R 3@ W i form feam & 2

A) 33 kms, IR @ B) 45 kms, 3T C) 65kms, I8 D) 39 kms, IR 9fE™
T HREN A A, JIMRAT 10 AT T TR A T 9K 319 e 21 w7 fovaw a1 freme e
A) 20 B) 45 C) 55 D) 90

fdw (uz | 89-90) : IR /GEERI /96 B Y-t @ U 3R Fifera fashew § @ ToE we

HEH T
89. IAZ, KEB, ? , OOF, QUH

A) MDD B) MII C) MIO D) MID
90. 266, 339, 528, 7

A) 630 B) 730 C) 830 D) 930

91.

92.

fifra o9 ¥ o SR MEE ¥ SS9 w9 A v fOeer @ w1 H R R v ) 8 Ao A
Rk

;ac_a_cbab_b_accab_ba_cb

A) bcacba B) acbaba C) cbcacb D) cabcab

T Ao &l I Al G H Al | qqH D (oY HET T AT I FH IR AT, A A A & e
NG A A, I A 3 F AT H W AY AT Al I5A H I A 3 O W T A ¥ T, A3
T I T SO R /@ g e ) =t o sy = o

A) 18 I B) 20 @ C) 24 4 D) 32 9
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Fder (we = 93 —94): 120 famneft ASH (B) ™ (M) 3R famm (S) i fawai # wdien & 931
St famnet E, M 3R S # Bt g7 39 & @ ot A g g et 7 faawn wn @

EM
&

93. W famndt ww ¥ w0 v foaww A wa gy, KN @ @

A) 25 B) 30 C) 60 D) =¥ & @i ot 78 7
94. T famR sftrr ¥ siferw @ fowadl A wer 5w, I A ufcEran @
A) 2083 B) 25 C) 45.83 D) 95.83

95. i fau wafm ¥ foram e &

A) 17 B) 16 C) 19 D) 21

96.  TE Y A vF Framh a@ o 3w & fafte Al o o e @ ¥ de fe ) o @ @ i R
@ H REEE 21 B @ W @ D AEA )| T @ W T D G BT @ A B AT
IR TN TE TH TR S R 3| AT D AW H AE BT

INR I B) &0 C) Tt D) Yo
97.  Tdur A IE HS A Al N I B1 WEl a4 &
A) 9.45 B) 9.15 C) 8.45 D) 3.15

98. T TS X, A ¥ IM 4 I3 Il 8 IR B W AW 5 & UgTell B W@l Uk q@d W Y, B ¥
TR 4 9 TAN B IR A W AW 5.30 I T5T W B QA CATISAT TR TEX hl A hid R
A) W 4.36 B) I™ 4.42 C) 7™ 4.48 D) W 4.50

e (W= A 99-100) : Yk URaR & dfar @& A,B,C,D, 3R E HIGAR ¥ AR ek IR D
WA D dIE Uoh Ueh e IR, A, TREST, IFR IR I Wi E1 i 3l G Teh & el bl
e o # =& Wl 7 B 3R A @ E YYUaR & TREST A FR @ Fl A TEAR Hi IFR @ 2
D HIaR ol ¥l Wil 31 E HI@aR ol J=+1E <18l @il B IRRaR &l @R @it g1 C aifHar
W IR W &1 A FIAR T GRSt @Il 31 D FUaAR & J=-I19 @rerl & |

99.  E IEhAR I Ti- 41 el @M 2

A) R B) a@& C) a9 D) 3R
100. D fow o aae @mr 2
A) FUER B) AR C) wiFar D) &R
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101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

m.

112.

113.

I T ¥ W F el W ¥ 2, 9% fGend @ e § 7 30 @, @ geAw Fw

A) T H T TAd F ARA FA MY B) 3ifar siferer W= BT iRy

C) I w5gd e ARy foh 98 @ s@ie o @ 8 D) faaf¥a R aw@ @ ey

e W WG TOR N FT SqEm el SN

A) T HET B) gFfF=d wue

C) 3T T D) 98 AT S SIS Fl U 9 qR e dit | oo B
el & Weld & 9w el §, g9 1 U WA 3 8

A) sau B) T&WI & C) 3TR o D) GHET 3R A1E WG

foamet & 3o EER @l ®UARd o @ o, sfasiten wEe) &t 2
A) fa=nst =t @ e

B) wrar-foen & Afea & o=

C) 39 &l 38 & & & oIy FmaenmT e

D) 3I9& Mo ZE8R & HRUN i A HAT R FAS HeAl

Tfe faenst wen A v o @ fovmr A wHe 1w @ B, A FeAuE Rl wmeET W

A) fowa = Iuged IOl | G A1y B) 3@ T TR AT A1MY
C) fawa & WrRaca &t 9ed o A2y D) 39 &I |l o ey
farem weon ¥ ften Y TUT 1 AETIW Hdhdw @

A) THH F SR - ST St graeny B) fa=mht &1 Suetsar &R

C) UIeaTET 3R STEATa - SR | D) e Sqaed
faren W Ao ImART Rard 1 didew = o

A) W& ™ B) foen = fameiareo C) faren 3tk = farma D) &4 faren
TR o Taen SrauRen a3 gega & &

A) TH &, TR B) TE. W C) @t Tame D) it 3rfdar
A el o e fore & forg foman W @

A) TR &R IS e e & & o B) Ieer & A Tl e @ seW @ forg

C) ‘ua foen st &l @00 & & folg D) Iemor &R 7 fem & aeta o I & forg
faten it frswe gument foR| g wafed &t E o

A) & @ AT B) ®ieet C) &= D) Hiead
w2 farem A =1 IR TAS B

A) T I TR T T R TS el B) farem =t ISR & S

C) |qut fare =aeen § guR A D) farenm e &1 SreATHIcher el

TRer fore ot IEm To B

A) tu=nRRer firem  B) weeient farenm C) o™i -fo=uer farer D) sitomniRen farem
faren =1 wem WRea: BT IR

A) fanfia = saraERa sha &t TR o1 aFT e & forg AR @

B) faenf¥ar @it somaariie seranstt s ol e

C) faenfar = qdenst & forg R &

D) 39 & W ¥ I YAIREr Sl STaET 6l SSHT
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14.

115.

116.

17.

118.

19.

120.

121.

122.

123.

124.

125.

126

e TR @ fIen 9 o e e w ek @ e

A) FRTACHE FEAR B) stemmaes &t farem &t aqorer

C) fociia graen D) 3MEIRYT -G & graeny

After faem & v e e @ fhe ¥ oega fear o

A) T8 fher B) vRe& w C) dRE Fiserant D) sated e
T wfif Rad (1993) &1 w2

A) e fEer 7 1LC.T. B) Afvw W@ gwr fem-wiftq

C) 9arvT gry faren - wifeq D) WR-Heq faer-wiftq

‘Fresands’ e @ o @

A) S T @ F A B) s=al & Te

C) == &l ;X D) st @t e

‘sifereR e - =R s Y fTE ¥ B - 9% AT e B U YR o geted § @ @ e
A) TEfEE w9 3 o 2 B) fawaiRar g & form w2

C) HEeiRepamEaa s = fhar 8 D) opaitaes g  fohar wmam 2
YU IUNW fRa W menia ®

A) @ HSEIFT B) & & C) - Wa D) g@ uifed
Rerl fohe T IR 7
A) @ fafer B) =R fafer C) geuiA fafer D) foram - fomrat fafer

Section — C (Subject Knowledge)
Dimension of a subspace W={(x, y, 2z, ) : x+2z+t=0,y+z+t=0}of Rtis

(A) 4 (B) 3 €)1 (D) 2
IfS={(1,1,0), (2,1, 3) }is a subset of R3 then which one of the following vectors of R3 is

not in the linear span of S?

(A) (0,0,0) (B) (3,2, 3) (€) (1, 2, 3) (D) (4/3, 1, 1)
The set { e2x, e3x} for x [ R is
(A) L.I. over R (B) L.D. over R (C) L.I. over R\{O} (D) none of these

Let T: R® - R2 be a linear transformation defined by T(x, y, 2) = (x + y, x - 2). Then
dimension of null space of T is

(A) 1 B) 2 ©o (D) none of these

Let T: R?2 - R3 be a linear transformation defined by T(x, y) = (x + y, x— y, y). Then Rank
of T is

(A) 3 B) 2 (&N0) (D) none of these

. If A and B are symmetric matrices of the same order, then (ABt — BAY) is

(A) symmetric (B) null matrix (C) skew symmetric (D) none of these
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127. If A is skew symmetric matrix, then A2 is a

(A) null matrix (B) unitary matrix (C) skew symmetric (D) symmetric
1 0 -1
128. If R=12 1 -1|, then the top row of R-! is
2 3 2
1
B 5 6 4] B)[5 -3 1] ©[z -1 4 D)2 0 —1]
1 2 4
129. The matrix [3 0 6| has one Eigen Value equal to 3. The sum of other two
1 1 p

Eigen Values is
(A) p-2 Bp-1 C)p (D) none of these
li)/At what point the line y = x + 1 is a tangent to the curve y2 = 4x ?
(A) (1, -2) B) (1, -2), (1, 2) (C) (1, 2) (D) none of these
131. The parametric equation of a parabolais x= £ + 1, y = 2t + 1. The Cartesian equation of
its directrix is
A y=1 B)yx=1 Cy=0 D)x=0
132. The slope of a line, which passes through the origin, and mid-point of the line segment

joining the points P(0, — 4) and B(8, 0) is

(A) % B) - % )1 (D) none of these
133. The value of x for which the points (x, —-1), (2, 1) and (4, 5) are collinear is

A)-1 B) 2 )1 (D) none of these
134. The distance between the directrices of the ellipse 9x2 + 42 = 36 is

(A) 2v5 (B) V5 ©) % (D) =
135. The distance of the point (2, 3, 4) from the plane 3x—- 6y + 2z+ 11 =0 is

(A) 1 B) 21 (©) 10 (D) none of these

136. Let x and y be real numbers and X = {(x, y) |y = %, x£20}L Y ={x y |y=-x be two sets

then
A XnY=X B)YXnY=Y C)XnY=o0 (D) none of these
137. If fln) = sin?(x) + 3 cos x— 5, then f{x) is
(A) an even function (B) an odd function (C) monotonic (D) none of these
138. If g ={(1, 1), (2, 3), (3, 5), (4, 7)} is a function described by g(x) = ax + b, then what values
should be assigned to a and b?
(A) 1,1 B)1, -2 €2, -1 (D) -2, -1
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139. What is the inverse of the function y = 5'°8* ?

1

1
(A) x = 5 logy (B) x =y logs (C)x=51logy (D) none of these

(Bn+1)(n-2)
nmn+3)

140. The limit of the sequence S, = { }is
(A) 0 (B) 1 (€ 2 (D) 3

141. The number of elements in the set S = {(a, b)|2a? + 3b2 =35; a, b are integers}, is
(A) 8 (B) 4 (€) 2 (D) 12

142. The series Y- 1— is

(A) not bounded below (B) convergent (C) divergent (D) none of these
143. The series }n_ nrlli is

(A) convergent (B) conditional convergent (C) divergent (D) none of these
144. The limit of the sequence S, = {3+2\/_} is

(A) O B)1 ) 2 (D) none of these

145. Value of the limit lim,_ 2x sin% is equal to

(A) 1 B)O (C) not defined (D) none of these
146. Which of the following statement is true for f{x) = sin x2 in (0, o) ?

(A) filx) is not uniformly continuous (B) flx) is not continuous

(C) flv) is not defined at some points (D) none of these
147. Which one of the following is uniformly continuous in (0, ) ?

1

(&) i) = sin (B) - © N = = (D) none of these

X

148. The function f{x) = | x| + 3 is
(A) continuous as well as differentiable on R
(B) not continuous on R
(C) continuous but not differentiable anywhere on R
(

D) continuous on R and differentiable on R\{0}.

. T Jtanx .
149. The value of the integral fOZ ey dxis
(A) (B) () = (D) none of these

150. Value of the Integral fooo fooo e eV dx dyis

(A) \/g (B) V& C) m (D) none of these
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151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

Value of the Integral [[(x? + y?) dx dy over the area bounded by the curves y = x2 and y?
= xis
(A) o (B) = (C) Vi (D) none of these

n

. . X" .
The radius of convergence R of the power series ZF is

(A) O B)1 ) 2 (D) none of these
The decimal number 1.236576576576537...... is equal to the rational number
(A) 123/99 (B) 1235/9990 (C) 123657/100000 (D) 123534 /99900

In a school there are 20 teachers who teach mathematics or physics. Of these, 12 teach

mathematics and 4 teach both physics and mathematics. How many teach only physics?

(A) 12 B) 8 (C) 16 (D) none of these
How many integers from 1 to 500 are divisible by at least one of 3, 5 and 7?
(A) 271 (B) 266 (C) 337 (D) none of these
The sup. of the set S = {2 sin x - 3 cos x is

(A) V11 (B) V12 (C) V13 (D) none of these

Determine for which values of x, the function y = x* — :ﬁ is increasing ?

(A) 1<x<3 B)x<1 (C) - x< 00 D) x=1

The value of the limit limn_,oo(n)% is

(A) 1 B) e (@] é (D) none of these

A stone is dropped in quite lake and waves move in circles at the speed of 5 cm s-1. At

the instant when the radius of the circular wave is 8 cm, how fast is the enclosed area

increasing?
(A) 40 tcm? st (B) 80 mtcm?2 s-1 (C) 60 Ttcm?2 s-1 (D) none of these
n! .
Ifct = T Then the sum C + ¢, is equal to
(A) cptt (B) Cc 4 (C) cnit (D) none of these
If z1, zo are two non-zero complex numbers such that |z; + z2|= |z1|+]| 22| then arg(z:) -

arg(zq) is equal to

(A) T (B) -m (ORY (D)1
Common roots of the equations z3 + 222 + 2z + 1 = 0 and 21985 + 2100 + 1 =0 are
(A) —w, —w? B) 1, w, w? (C) -1, w, w? (D) w, w2
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163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

The vector — 4 § + 5§ is turned counterclockwise through an angle of 1800 and stretched

1% times. The complex number corresponding to the newly constructed vector is

(A) 6 - i (B) -6+ (C) 6 + =i (D) none of these
If |z2-1|=]|z|2 + 1, then z lies on
(A) circle (B) Real axis (C) Imaginary axis (D) ellipse

The reflection of the complex number ‘:—zi in the straight line iz = 7 is

(A) 1-2i B)4-3i (C) 3 +4i D)2 +1
If |z+ 4| =3 then the maximum value of |z + 1|is

(A) 10 B) 4 (©)o (D) 6

The average of the squares of the numbers O, 1, 2, ..., nis

(A) 5 n (n+1) (B) ; n(2n +1) (C) 5 (n+1)(2n +1) (D) none of these

Mean of five observations is 4 and their variance is 5.2. If three of them are 1, 2, 6 then
other two are

(A) 2,9 B) 5, 6 (C) 2, 10 (D) 4,7

In a frequency distribution, the mean and median are 21 and 22 respectively, then its
mode is approximately

(A) 20.5 (B) 25.5 (C) 24 (D) 22

Mean of 100 observations is 45. It was later found that two observations 19 and 31 were

recorded incorrectly as 91 and 13, then the correct mean is

(A) 44.46 (B) 44 (C) 45 (D) none of these
The AM of C§™**t, czm*+t, 2™, ..., C2"*is

2n 221 on
(A) D (B) ot D) €) — (D) none of these

The probability that in a family of 5 members, exactly two members have birthday on

Sunday, is
12x53 10x62 2 10x63
(A) =5~ (B) = ©): (D) -

A five digit number is formed by using the digits 1, 2, 3, 4, 5 in a random order without

repetitions. Then the probability that the number is divisible by 4 is

(A) 3/5 (B) 18/5 (C)1/5 (D) 6/5
A coin is tossed 3 times. The probability of getting head and tail alternatively is
(A) 1/4 (B) 1/8 (€) 1/2 (D) 3/8
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175. Probability that in a year of 22nd century chosen at random has 53 Sundays, is
(A) 3/28 (B) 5/28 (C) 7/28 (D) none of these
176. Solution of the differential equation xdy — ydx = \/x? + y? dx is

(A) y + Y22 +y7 = cx (B) y +/x*+y? =cx2
(C) y-Jx2+y? = xc? (D) none of these
177. The integrating factor for ydx — xdy = O is
A3 (B) > ©) o= (D) none of these

x2+y?
178. The directional derivative of W(x, y, 2) = xy? + 4xyz + 22 at the point (1, 2, 3) in the

direction of 3i + 4j - Skis
78 218 148
(A) oV (B) = ©) 5 (D) none of these
179. A particle moves along the curve x = + 1, y = £ and z = 2t + 5 where tis the time. The

component of velocity at t= 1 in the direction of ¥ = i + j + 3k will be
(A) V12 (B) V13 (C) V10 (D) V11
180. Area of the triangle formed by the tips of the vectors a, b and ¢ is

(A);@-b)@-¢é (B)5|(@-bx@-o)| ()5 |daxbxé| (D) none of these

181. If 7 = xi+ yj + zk then value of div. = will be

(A) 1 B) 2 o (D) none of these
182. The value of curl (grad f) i.e. UxUf is equal to
(A) 1 (B) 02f (C) Of mf (D) O
183. Find the unit normal vector to the level surface x2 + y — z = 4 at the point (-3, 1, 6).
itk n W Civ2iok
(A) HTZ; (B) H:/]E © HTG{ (D) none of these

184. Find the angle of intersection of the curves y2 = x and x2 = y at point (1, 1).

(A) sin‘1% (B) tan‘lg (©) tan‘lg (D) none of these
185. The local maximum values of the function flx) = 3x* + 4x3 — 12x2 + 12 are

(A) 1 (B) 2 €) -2 (D) O

3
186. The order of the differential equation % +5 (Z—z) +9y=0is

(A) 3 (B) 1 (©) 2 (D) 5
187. The general solution of the differential equation (y + x8) dx + (x + 10y3) dy = 0 is
(A) 4xy + x*+ 10y* = ¢ B)dxy+ xt+yt=c (C)d4xy+ y*=c (D) none of these
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188. Every homogeneous equation f{x, y, z) = O represents

(A) Sphere with centre at origin (B) Cone with vertex at origin
(C) Cylinder (D) None of these
189. The differential equation of all lines passing through the origin is
- Y v _ YW
(A) y=vx B) S =x+y C)Z=y-x (D) none of these
190. How many terms of the G. P. 3, %, %, ..., are needed to give the sum % ?
(A) 8 (B) 10 © 9 (D) none of these

191. If altitudes of a triangle are in AP then sides of the triangle are in
(A) GP (B) AP (C) HP (D) AG
192. In an arithmetic progression sum of terms, equidistant from the beginning and the end

is equal to the

(A) Last term (B) First term (C) Second term (D) Sum of the first and last term
193. Iflog 2, log (2» - 1), log (2» + 3) are in AP, then n is equal to
(A) logz 5 (B) logs 5 €)5 (D) 25

194. Number of subsets of a finite set with n elements are

(A) 2n (B) n! (C) n2 (D) n»
195. If cos?2A + cos2C = sin? B then triangle ABC is

(A) equilateral (B) right angled (C) isosceles (D) none of these
196. LetR={(x, y) | x+ 2y =8} be arelation on N, then domain of R is

(A) {1,2, 3} B){1,2,3,4,5,6} (C){2,4, 6} (D) {1, 3, 5}
197. If wis a cube root of unity then w is equal to

@ 3 B 28 © = (D) 2
198. If ¥2 -3 | x| + 2 < 0 then x belongs to

(A) -2,-1)0(1,2) B) 2,1 C) (-2, 2) (D) none of these
199. The largest interval, among the following, for which x12 -x% + x* —x+ 1 > O is

(A) 4,0 (B) (0, «) ©€) 44 (D) (- 100, 100)
200. The value of sin (cot1x) is:

()  Vitx? (B) x ©) == (D) ;
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

132.

133.

Section — C (Subject Knowledge)
R4Hﬁ3qwf1\?w={(x,y,z,t):x+z+t=0,y+z+t=0}7ﬂ€|ﬁ§:
A) 4 B) 3 o) D) 2
e S={(1, 1, 0), (2, 1, 3) } R3T Y-V &, A R3 T i & (AiThe daFex, S o1 Was @
& 2
(A) (0,0, 0) (B) (3, 2, 3) (©) (1, 2, 3) (D) (4/3, 1, 1)
xDRa\?ﬁl‘Q'ﬁ?{eﬂ, esx} 5
A) LI 3= R B) LD 3= R C) LI 3R R\{0} D) =¥ ¥ g ¥ 78 7
ATA Tk, Yy, 2) = (X + Y, x- 2) R IR Wh TNRT T: R3 - R2 W T & ef WG M =
LS
A) 1 B) 2 C) o D) T A ¥ FIE F 7 B
AT T(x, y) = (x+ y, x—y, y) =N IR Wk AR T: R2 . R3 W T 1 I &
A) 3 B) 2 C) o D) 3 A ¥ FIE F 7 B
it A 3R B @99 O & T Afitew 8, @ (AB'—BA")
A) i@ B) - A C) faww wfoa D) T ¥ =E oft 7 B
e A foow wfvm Afcaw 8, @ A% @
A) 7 g B) W& Afge ) faww g D) & Hfgera

10 -1
e R=[2 1 —1|d R' & 0 ofm &
2 3 2
A)[5 6 4] B)[5 -3 1] ©[z -1 4 D)[2 0 —-1]
1 2 4
ﬁfﬁiﬁr[3 0 6]asrwa1wﬁ$1?€r(Eigenvalue)3%W%|W%aﬁ%ww@g%
1 1 p
A)p-2 B)p-1 C) p D) T ¥ &% ft 78 7
fora fog m¥@r y=x+ 1, a& y2=4xa%wﬁ‘fha1-§:
A) (1,2)  B) (1,-2),(1,2) ) (1,2) D) T ¥ & ft 76 7
Wad o Trelforeh Geor X =t2+ 1, y=2t+ 1 | Zqe Ta=r &1 HreforaT aHer 2
A) y=1 B) x=1 C)y=0 D) x=0

TR @ @ e, S P(0, - 4) 3R B(8,0) forgst o fiee Aol ar-wE & e 3R weA-foeg ¥
W%,%:
1

A S B) —% 01 D) T ¥ @ ot 7 2
x & 9=, fm & fow (x, - 1), 2,1) ik 4,5 gaw?, 2
N B) 2 0) 1 D) T ¥ FIE N 78 @
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CHARU
Pencil


134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

fdga 9 + 4y’ =36 & st & e @

(4) 25 (B) V5 © & (D)

WA 3X -6y +2z+11=07% forg 2,3,4) A @

A) 1 B) 21 C) 10 D) T ¥ @ ¢ 78 7
Wﬁxﬁyaﬁﬁﬁ'ﬂ@ﬁ%sﬁ'{x={(x, Y) |y=%,x¢0},Y={(x, Y ly=-x AJc T, @
AXnY=X B)XnY=Y C)XnY=¢q D) T ¥ &% ft 78 7
T flx) = sin?(x) + 3 cos x— 5, flx) =

A) ha  B) faww wee C) TEad D) A A FE T A8 @

A g = (1, 1), (2, 3), (3, 5), (4, 7)), g(x) = ax + b, BV AT HeT 8, W a IR b A T T4
=feq : -

A) 1,1 (B) 1, -2 ©) 2, -1 (D) -2, -1

W y = 5198 &1 Yool o

(A)x=5%gy (B)x=y%gs (C) x=51logy D)z ¥ g ot 78 ?
Sn={%}m Al I

(A) O (B) 1 (€) 2 (D) 3

¥ S={(a, b)|2a2 + 32 =35; a, b Tiw T }, ¥ 3wl & G B

A) 8 B) 4 C) 2 D) 12

CLINDWRPIN &

A) A suReyr  B) IfwER C) uan D) H A =g ¢ A8 B
A e, 20 R

A) @R B) uftdus @@ C) ot D) T q A o7 78 B
TR S = (220 o e B

A) 0 B) 1 C) 2 D) T ¥ & ft 78 7
@ﬂTlimx_,Oszin%aﬂ'ﬂfqW%

A) 1 B) 0 C) fAfgam =& 2 D) T ¥ & ft 76 7

(0, ) ¥ flx) = sin x2 & forw T - HAF FE B

A) f(x) T IRavE TE 7 B) f(x) 3rave & &

C) wo forgsi W f(x) ufenivm =& & D) T ¥ &% ft 76 7
(0, 0) F THIT-T YHGAM IREUS &l =
(A) fig = sinz (B) - ©f9 = = D) =@ A IS 3 7 ?

2
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148.

149.

150.

151

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

WA fi) = |x| +3 &

A) R W IRAUE IR FThHe-T B) R W 3r@Us &

C) 3M@vE Wg R R Fgl 3 Jaheria 78t D) R W MU 3R R\{0} R Sahera
O%—H;% dx a»‘rwgcr%:

g B) % © Z D) T ¥ & ft 78 7

A [C[Te™ e dxdy WMAAE

@) 5 (B) Vi € m D) T ¥ FIE N 78 @

y=x23R 2 = x Tl B} §F qThA W TFA [[ (x2 + y?) dx dy T 4 &

(A) o= (B): (C) Vi D) T ¥ w1 0 78 7

I} Z’% =1 AR R & = @

A) 0 B) 1 C) 2 D) T ¥ &g W 8 7

THAT & 1.23657657657657...... TWER 2 IRAT T

(A)  123/99 (B) 1235/9990 (C) 123657/100000 (D) 123534/99900

T HAT § 20 STEATE & W U SrAar Aot verd #1 3 A, 12 e ver € 3R 4 e iR
Wifee! Ter B daa sifde fhae seaue e @

A) 12 B) 8 C) 16 D) T ¥ w1 ¢ 78 7
19 500 I fohae quifer 3,5 3R 7 F 4 & ¥ & T N 9T o

A) 271 B) 266 C) 337 D) T ¥ &% ft 76 7
ﬁE‘S={2sinx—SCosx} ﬁsup.%:

(A) V11 (B) V12 (C) V13 D) T ¥ & ft 76 7
freia & 7 x & e @%WWy=x4—43i3 ECRG

(A) 1<x<3 B)x<1 (C)—<x< 00 D) x=1

| limn_m(n)% &l {eg LS

(A) 1 B) e ©) 5 D) T ¥ &% ft 76 7

TEH W AT A TR He ol © R RA gl A Sem s @ A ¥ IOt 21 T & R 9
AR T & @@ Sem 2, A IRag &7 ot oot 4 9¢ W@ =

(A) 40 Tt cm? s-! (B) 80 Ttcm? -1 (C) 60 TTcm? s-1 D) T ¥ & N A8 2

g cn=—""_ @A CF+ M AT WK B

ri(n-r)!
(a) cr+t (B) Cla (C) Cr D) T ¥ wIE 0 78 B
AR 21, 2o A W-IFT AT G 8 AME |21 + 22| = |21|+| 22| W arg(zi) — arg(z:) TER 2
(A) Tt (B)-m o (D)1
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162.

163.

164.

165.

166.

167.

168.

169.

170.

174.

175.

ZB+222+ 22+ 1=0 3 2195 + 2100 + 1 =0 FAKON & GG IA 2

(A) — w, — w? B) 1, w, w2 (C) -1, w, w2 (D) w, w2

AFX - 410+ 57 H 180" & FIVT g Uy - =feromast ¥ fear @ @ S 1% I wen @ S
21 AT I AT D IIET AR G B

(A) 6 — =i (B) -6+ (©6+Zi D) T A wE 07 3

A |z2-1|=|z|2+ 1, o z fora w® o s

A) Tb B) arafas 3re1 C) Teuteh et D) T ¥ & 3 78 2
TR A X iz = 7 ¥ Al w2

(A) 1 -2i (B) 4 - 3i (C) 3 + 4i (D) 2 + i

AT |z+4| =3 @ |z+ 1| & fFaH A T

A) 10 B) 4 C) 0 D) 6

0,1,2,....,n G&AN & T 1 3AEd B
(A) 5 n (n +1) B):n(2n+l) (O3 (n+1)2n+1) D) T ¥ = 78 &
i<l YeN T AEA 4 B 3R TAKHT GO 5.2 21 AT TR A W 1,2,6 €, W 3 A T

A) 2.9 B) 5.6 C) 2,10 D) 4,7
gt fameor ), e sk wifeaem, w9 21 SR 22 €, A A qgh A 2
A) 205 B)25.5 C)24 D) 22

100 Y&rol 1 WeA 45 B AE A e g R 19 W 31 A YN ¥ 91 IR 13 H T H Mo RS
foran T o, @ G e B

A) 44.46 B) 44 C) 45 D) T ¥ & ft 78 7
C3nHL, canH camtl L cE T AM B

(A) o (B) (ji’;) €= D) TR ¥ A o w2

IE GET foh 5 9e=l & Ueh RGN |, O 9S8l o1 STl dleh dith AR @l B, ®
(4) 2 (B) 1% ©?2 (D) 12

Ueh Il e A fo1 S8 1,2,3,4,5 3Rl & TANT ¥ Ueh 5 3l o @I S5 Wil B 98 9
4 TR WIS 8, S9! a7

A) 3/5 B) 18/5 Q) 1/5 D) 6/5

U g I 3 9R IS ST 21 dehfoqsh dR R R} 3R U 31 il 9¥1aT 2

A) 1/4 B) 1/8 Q) 12 D) 3/8

22-F TARH A AGRSH SN A A& ¥ § 53 TAAR B Fl GG 2

A) 3/28 B) 5/28 C) 7/28 D) T ¥ & ft 76 7
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CHARU
Pencil

CHARU
Pencil


176.

177.

\17)6

179.

180.

y
\19’2’.

183.

185.
186.

187.

e TAH xdy — ydx = /x2 + y2 dx & A &

(A) y +/x7 +y? = cx (B) y + x> +y? = cx?
(C) y - Vx? + y2 = xc2 (D) T A A 0 E @
ydx - xdy =0 & forg T we 2

@7 (B) (C)ﬁ D) T ¥ & ft 78 7

3i+4j-5k e A forg (12,3) R W(x, y, 2) = 2 + dxyz + 22 1 e Feaesh

(A)% (B)% (C)% D) T ¥ wiE 78 8

TEENTh x=8+1, y=2andz=2t+5 & AT T &8 Wel W t T Bl 5 =i+ j+ 3k
feam ¥ t=1 W AW w1 TeF T

(A) V12 (B) V13 (C) V10 (D) V11

A7 @, b and ¢ H JUNEN TR TS /TS o1 SR 2

(A)3@-b)(@-8 (B3 |(@-bx@d-¢| (C)5|dxbxé| D) T A= &t 78 2
ﬂﬁ?=xi+yj+zk?-ﬁdiv.ri3aﬂ'ﬂ\?1‘i?ﬂﬁ:

A) 1 B)2 C)0 D) T ¥ & ft 76 7

curl (grad f) i.e. Ox[f AT oA AT 5

@ 1 (B) 02f (C) Of mf (D) O
(-3, 1,6) TR W 2 + y—z=4 T9qw a8 & ¢ FC AW I ACH TN

(A) —61‘\;%—1( (B)—i-l;/jg'_—k (C)—i+jgj—k D) T Y RS N R
(1,1) forg Wy =x 3R x* =y Tl o1 If=ae IV AeH e

(A) sin™2 (B) tan~*2 (C) tan™Z D) TR ¥ g of & 2
HAT fX) = 3xt + 4x8 — 12,2 + 12 & Qe ferhaw 1o

A) 1 B) 2 C) -2 D) 0
WW%+5(%)3+9y=o T 2

A) 3 B) 1 C) 2 D) 5

Fahe G (y + x8) dx + (x + 10y3) dy = O 1 GHFT B 2

(A) 4xy + x*+ 10y* =c B)4xy+ x*+ y*=c

(C) 4xy + y* = c D) T ¥ &g W 8 #

T e G f( X, y, ) = 0 FEfue & 2

A) Eleg W B afed el B) ¥dlferg W s @fed oi|

C) e D) T ¥ & 3 78 2
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CHARU
Pencil

CHARU
Pencil

CHARU
Pencil

CHARU
Pencil

CHARU
Pencil


189.

190.

192.

193.

194.

J75.

196.

197.

S

199.

200.

TeAfarg & TR F @S T STadhe ST B

B y=vx 2 B)2=x+y ©2-y-x D) =W ¥ wiE f 7 B
G.P.s,g,%, a‘:ﬁmﬁq@ra&m%%sﬁe%ﬁw

A) 8 B) 10 C)9 D) T ¥ & ft 78 7

I e & Midora AP ¥ 2, O Fonvie ot ol v & &

A) GP B) AP C) HP D) AG

ST YT A SR IR 3T ¥ FHRIeN I &l TS WK 2

A) Jifew we B) UgeT U C)@@ e D) usat 3K 3ifomt ag &1 Wis
e log 2, log (20 — 1), log (2» + 3) AP, ¥ ¥, W n WK T

(A) log, 5 (B) logs 5 ©)5 (D) 25
nﬂﬁﬁﬁ%ﬁ?%@—ﬁﬁﬁﬁ%

(A) On (B) n! (C) n2 (D) nn

IfE cos2A + cos2C = sin2 B & 33« ABC #:

A) TS B) GHeRITT C)uafgalg D) =W ¥ IS o7t 78 B
ATA R={(x,y) | x+2y=8} N, R &I 7, A R & I =

@A) {1,2,3 (B){1,2,3,4,5 6/ (C){2, 4,6 (D) {1, 3, 5}
T () THE A TS B, A ) TR 2:

N (B) 128 (€) 8 (D) =28

e 2 -3 |x| +2<0 A x fFa 3 w&he =

A) -2,-1)0(1, 2) (B) (-2, 1) C) -2, 2) D) T ¥ HIE 78 @
iR ¥ o w91 R, T R e x2- 0+ x4 -x+1>0 &

@A) 4,0 (B) (0, =) C) (-4, 4) (D) (- 100, 100)

Sin (cot” Xx) = qa 2
(A) V1 + x? B) x (©)

(D) -
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CHARU
Pencil
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Instructions :

1.

10.

11.

12.

13.

14.

Write your roll number on the Question Booklet and also on the OMR Answer Sheet only in the space
provided and nowhere else.

Enter the Question Booklet Number and Series on the OMR Answer Sheet by darkening the corresponding
bubbles with Black/Blue Ball Point Pen only.

To open the Question Booklet, remove the Staple Pin gently.

Check that the Question Booklet contains 200 Objective Type questions with multiple choice answers. In
case of any discrepancy, inform the Invigilator within 10 minutes of the start of test.

Each question has four alternative answers A, B, C & D, of which only one is correct. Darken only one
bubble A, B, C or D, whichever you think is the correct answer, on the OMR Answer Sheet with
BLACK/BLUE BALL POINT PEN only.

All questions are of 1 mark each. THERE IS NEGATIVE MARKING. 1/4 marks will be deducted for
every wrong answer.

Rough work is to be done on the question booklet only.
Do not make any identification mark on the OMR Answer Sheet or Question Booklet.

The Answer Sheet is designed for computer evaluation. If the instructions are not followed properly, the
candidate alone shall be responsible for the resultant loss so caused.

After the test, hand over the Question Booklet and OMR Answer Sheet to the Invigilator on duty.

Telecommunication equipments, such as calculators, pager, cellular phone, wireless & blue tooth devices
etc. and weapons are not permitted inside the examination hall.

Nothing is to be copied/noted from the given OMR Answer Sheet and Question Booklet, and be taken out
of the Examination Hall. Any candidate found doing so would be expelled from the examination.

A candidate who creates disturbance of any kind or changes his/her seat, or is found in possession of any
paper possibly of any assistance, or found giving or receiving assistance, or found using any other unfair
means during the examination will be expelled from the examination. The decision of the Observer shall be
final.

The candidates will not be allowed to leave the Examination Hall before the expiry of time.
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Key PGT(MATHS-9) 1.6.2014

Ans.

Q.No.

161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200

Ans.

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141

142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160

Ans.

Q.No.

81

82

83

84
85

86

87

88
89
90
91

92

93

94
95

96

97

98
99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53

54
55
56
57
58
59

60
61

62
63

64
65
66
67

68
69

70
71

72
73

74
75
76
77
78
79
80

Ans.

Q.No.

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35

36
37
38
39
40
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